S R AL e e TR EN N AR R

() FH2TF 4H 1A (F) FaesH 3H3LH H2E DR
Ny
(B7 : 1)
woE B H AT R AL B A A G WEBEIE | B N & F
AETERAEEE QR | AETE R ALE RS | BRI AR B PERRR | BRG] 72 X
=i HHEBESE WEEEE S | SRS

U | AR e Al B A 0 87, 474, 621 0 0 87,474, 621 0 87, 474, 621

kA e e 31, 050 0 0 0 31, 050 0 31, 050

N B EETES 18, 746, 774 0 0 0 18, 746, 774 0 18, 746, 774

= H— IR EIGEE (D) 18, 777, 824 87, 474, 621 0 0 106, 252, 445 0 106, 252, 445

A NG 0 61, 669, 284 0 0 61, 669, 284 N9, 864 61, 659, 420

m| | FER 0 111,510, 781 0 0 111,510, 781 0 111,510, 781

)] St 0 17,387,017 0 0 17,387,017 A175, 289 17,211, 728

H A5 A 2 0 1,672,618 0 0 1,672, 618 0 1,672, 618

| | DA Bh G A A ST 4 B B 0 Al, 622, 939 0 0 A1, 622,939 0 A1, 622,939

2] BB R RERE 348, 204 0 0 0 348, 204 0 348, 204

# B — e iR A (2) 348, 204 190, 616, 761 0 0 190, 964, 965 A\185, 153 190, 779, 812

B — B AR B RCGEA (3)=(1) — (2) 18, 429, 620 | A103, 142, 140 0 0 | /84,712,520 185, 153 | A\84, 527, 367

B || SEELE AL Y S 29, 876, 191 0 0 0 29, 876, 191 0 29, 876, 191

[ A B — B A IEBIMGRE (4) 29, 876, 191 0 0 0 29, 876, 191 0 29, 876, 191
v
A

i | &
)]
4t
M

b1

2 H— e AR g AR (5) 0 0 0 0 0 0 0

il B — B AR BSHRGEAR (6) = (4) - (5) 29, 876, 191 0 0 0 29, 876, 191 0 29, 876, 191

i I IRCERE (7) = (3) +(6) 48,305,811 | A103, 142, 140 0 0 | A\54,836, 329 185, 153 | Ab54, 651, 176

[ BRI 0 119, 740, 953 0 0 119, 740,953 | A119, 740, 953 0

[F A &AL AR B gt 81,493, 527 0 0 0 81, 493, 527 0 81,493, 527

B | 4% [ 2 Ot O BRI 25, 983, 595 0 0 0 [ A25,983,595 0 | A25,983,595

7l FERII AR EE (8) 55, 509, 932 119, 740, 953 0 0 175, 250, 885 | A119, 740, 953 55, 509, 932

# i R 7 pEFEHIH - AL R 0 154, 393 0 0 154, 393 0 154, 393

W | | A D& S R R A U AR (BR) 0 A 154, 390 0 0 154, 390 0 154, 390

2] E AL VN 0L 119, 740, 953 522, 792 0 0 120, 263, 745 | A120, 263, 745 0

58 Wi B EEEES 20, 000 0 0 0 20, 000 0 20, 000

Fp e AR (9) 119, 760, 953 522, 795 0 0 120, 283, 748 | A 120, 263, 745 20, 003

FRBHRER (10) = (8) —(9) /\64, 251, 021 119,218, 158 0 0 54,967, 137 522, 792 55, 489, 929

B A S EHIECEAL (1D =(D+(10) | A15,945, 210 16, 076, 018 0 0 130, 808 707, 945 838, 753

ENBL, A ECRL K OV 3R (12) 0 0 0 0 0 0 0

B R (13) 0 0 0 0 0 0 0

R B TEOER (14) = (11) - (12) - (13) A15, 945, 210 16, 076, 018 0 0 130, 808 707, 945 838, 753

2 AT AR T T M e 45 (15) A24, 101, 560 110, 238, 094 0 9, 909, 198 96, 046, 032 1,527,171 97, 573, 203

fd LR EE B REE (16)= (19 + (15) | A\40,046, 770 | 126, 314, 112 0 9,909, 498 96, 176, 840 2,235,116 98, 411, 956

b6 FEALTUREE (17) 0 0 0 0 0 0 0

i Z DO OFESL A B %E (18) 26, 995, 775 0 0 0 26, 995, 775 0 26, 995, 775

4 Z OO FE T & At A (19) 9, 970, 866 0 0 0 9, 970, 866 0 9, 970, 866
e
#
D

il YOS AR (20)=(16)+ (1D +(18)-(19) | A\23, 021, 861 126,314, 112 0 9, 909, 198 113,201, 749 2,235, 116 115, 436, 865




